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	Worksheet 1

1, 3. Actual graphs will vary but should resemble:[image: image1.emf]New York City 
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2. This graph illustrated how the City of Baltimore grew from in the years from 1800 to 1850. Baltimore’s population is increasing but not as fast as New York City. 

4. This graph illustrated how the City of Baltimore grew from in the years from 1800 to 1850. Baltimore’s population is shown to increase, but not as rapidly as that of New York City. 

5. It is likely that Philadelphia’s population increased from 1800 to 1850 as well.

6. 
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7. These graphs illustrate the percentage of people living in the city and in rural areas. From 1800 to 1900 there was a change in this percentage with the percentage of people in urban areas increasing and percentage of people in rural areas decreasing. 

8. The majority of people were living in rural areas.

9. The majority of people were still living in rural areas but the percentage of rural is decreased and the percentage of urban increased. 

10. More urbanized. 

	Worksheet 2
Answers will vary

	Worksheet 3
1. Russian, Germany, Italy

2. Religious/political freedom, seeking greater economic opportunities

3. Germany

4. Most immigrants immediately began to look for work

5. Asia, Latin America, and Europe

6. Looking for better opportunities or escaping persecution or war in their home country.  This shows that the reasons for immigrating have generally stayed the same since the 19th century 
	 Worksheet 4 

1. Ulster

2. Nationalists

3. Northern Ireland, Republic of Ireland

4. Unionists were those against Home Rule. They wanted to continue the union between England and Ireland established in the 1801 Act of Union.

5. Nationalists were people who wanted Home Rule.
Answers vary.

	Worksheet 5 

1. Verse1: the author professes he can no longer stay in Ireland because he can’t endure the hardships and slavery.  He plans to go to America.

Verse 2: The author feels oppressed so he is leaving Ireland, crossing the Atlantic, and going to America

Verse 3: His family can no longer support him and they have been driven from their land, so he is going to go to America.

Verse 4: The economic state of Ireland is poor, many families beg from door to door, but no one can help them.  

Verse 5: He left Ireland in 1846, in America he pays no taxes or rent, so he is staying for good.

2. The land of liberty refers to America, the Isle of Saints refers to Ireland, and the stormey sea refers to the Atlantic Ocean.

3. He probably worked as a tenant farmer, who was basically like a slave.  The potato famine was another hardship he may have had to endure.

4. The land was probably taken away and given to the British, and his family was forced to pay to live on it as tenant farmers.

5. The Economic situation in Ireland at the time this ballad was written was extremely poor, many had no homes or land.  

6. The potato famine began in 1845 that forced many Irish to flee Ireland.

7. The author seems to view America as the land of money and freedom.  
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